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No. HERA HEBREH B rin WENEEE
1 |EEHE Ta=125 °C, V = Vopr max. 1000 h 0/22 |HRREERBT S &
2 |mEEEns TR Ta=85°C, RH=85% 1000h | 022 |BRBEREBRT DL
V = Vopr max.
- o — — 5
3 [ FLyswsuniqpz |10 CRH=8S% P=2.3-10"Pa o6h | o2 |MEEEEBRETHC L
V = Vopr max.
4 |ERRE Ta=150 °C 1000 h 0/22 |ERREER/ET S &
5 [ERR%E Ta=-65 °C 1000 h 0/22 |BlmRBER/RET S &
6 |ETH®AYAII -1 Ta=85 °C, V= Vopr max. Jx 022 |H@mRRER/BET S L
10°cycles
= —_ o — 8 X 1] 2 $ -
7 | EEBRAITAIIIL 2 Ta=105 °C, V= Vopr max. 10%ycles 0/22 |ERIREER/BET S &
8 |BEY 7L (5" Ta=150 °C € —65 °C, & 15 %) 500 cycles | 0/22 |BRBHBEBRTH L
AR EBRET DL
- 1 —\ # — o s
9 |IFAEMmMEMEL () 7A—) T=260 °C, 10s 3 [l 022 | jiea i maspisr = &
N o #2 T=380 °C, 5s (I&A =3 T 5RE) AR ERRETHL
10 | XA 2 (FAETT) HE U — K8 2 022 | piga | mampisr = &
SRR ERRETHL
- T 1 _\#2 — o
11 |[[FAFETEM 3(7BE—) T=260 °C, 10s 1[E 022 | iga't  maspirp = &
TR ARE A LA 3HLURN
i #3 T=245°C ThadoL
12 AR ZAFH : Sn-3.0Ag-0.5Cu 5S | Oy mizimans @ 959kl L8
FHTEOLNSZ L
ABH A4 XA 40 LT
13 |4 25 1 (ZREHE) Ta=30 °C, RH=60% 4000h 0/6 Z;J:g, —& um H
Py ZH 45 L
14 | %4 29 2 (REFA 5 L) Ta=85°C © 40 °C 1500 cycles | 0/6 Z i 7:334 At 45um BT
15 | 4 253 (BEEERR) Ta=55 °C, RH=85 % a000h | o6 Z;}g?g'f ABE 40um BT
16 FAEEEEER Ta=125 °C ¢ -40°C 2000 cveles | /22 HIEEED 50% L LD
(HAWRE) (%A 724 - Sn-3.0Ag-0.5Cu y BEEHIETH L
17 |J— K525k Y &E 5|58 5 : 5.0N 30s 011 |U—FHARELEWVNI &
18 | 1) — FehITi&RE 2|8 : 25N 45 EHr Y ghiF 2 [d 011 |U—FABZE LA &
V=+2000 V, C=100 pF, R=1.5 kQ . _
=] . 1] O by =
19 [E$EME 1(HBM) Ve B # GND R 5 g 05 |HEBRERRTLHIL
20 |E&EMmME2(CDM) V=t500 V &, EKE 1@ 05 |HEBRERRTLHIL
21 7?9—-7“} JHEL +100 mA, V = Vopr max. 1 [ 05 |ZvFF7yTLIENIE
(VNILREFREANE)
SyFT7 ey TRE2 _ -
22 Z‘.Sj?ﬂ%it,f) V = Vopr max.h 5 EDBEE 1[E 05 |ZYFFTyvILENI L

TATY v o kAa




3E) Vopr max = KEMEEE

#1,2,3: BILEEERER. V) —XIRBRE2ERET S,

MEA-S93C46CDO0OHJ8TxU3-SOP8J-J000-Rev.1.0 2/2

Bl A I (#1)
=2RRE iR AL TR 2o
= o 1)27Aa—3
Ta=125 °C Ta=85 °C ) [=]
=04 h RH=85 % T=260 °C
- t=168 h t=10s
Al L B (#2)
=SRR7EF % ;R AL TR 4
. Ta=85 °C
Ti‘_lzif’h ¢ RH=85% -
- t=168 h
Bl A I (#3)
=2RRE iR AL T8 i
Ta=105 °C
- RH=100% -
t=8 h
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